Timester Challenge
Angles in Triangles

Calculate the size of angle x.
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Calculate the size of angle x.
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Calculate the size of angle x.
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Calculate the size of angle x.
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Calculate the size of angles x and y.
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Timester Challenge
Angles in Triangles

Answers

Calculate the size of angle x.

)
36°

36 +90 =126
180 — 126 = 54

Calculate the size of angle x.

180 — 48 = 132
Isosceles Triangle
132 + 2 = 66°

So x = 66°
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Calculate the size of angle x.

47 + 75 =122

X 180 — 122 = 58

Calculate the size of angle x.

72 +72 =144
Isosceles Triangle
180 — 144 = 36°
So x = 36°
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Calculate the size of angles x and y.

Angles on a Striaght Line 180 degre
180 — 112 = 68°
Isosceles Triangle
So x = 68°

68 + 68 = 136
180 — 136 = 44
Soy = 44°
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